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1. The solution of 
𝑑𝑦𝑑𝑥 +𝑦 = 𝑒―𝑥, 𝑦(0) = 0 is

a)𝑦 = 𝑒―𝑥(𝑥 ― 1) b)𝑦 = 𝑥𝑒𝑥 c) 𝑦 = 𝑥𝑒―𝑥 +1 d)𝑦 = 𝑥𝑒―𝑥
2. A curve having the condition that the slope of tangent at some point is two times the 

slope of the straight line joining the same point to the origin of coordinates, is a/an

a)Circle b)Ellipse c) Parabola d)Hyperbola

3. The solution of the differential equation 𝑥 
𝑑𝑦𝑑𝑥 +2𝑦 = 𝑥2 is

a)𝑦 =
𝑥2 + 𝑐

4𝑥2 b)𝑦 =
𝑥2

4
+𝑐 c) 𝑦 =

𝑥4 + 𝑐𝑥2 d)𝑦 =
𝑥4 + 𝑐

4𝑥2

4. The solution of the differential equation 𝑦 
𝑑𝑦𝑑𝑥 = 𝑥 ― 1 satisfying 𝑦(1) = 1 is

a)𝑦2 = 𝑥2 ―2𝑥 + 2 b)𝑦2 = 2𝑥2 ―𝑥 ― 1 c) 𝑦 = 𝑥2 ―2𝑥 + 2 d)None of these

5. The differential equation of the family of lines whose slope is equal to 𝑦-intercept, is

a) (𝑥 + 1)
𝑑𝑦𝑑𝑥 ―𝑦 = 0  b)(𝑥 + 1)

𝑑𝑦𝑑𝑥 +𝑦 = 0

c)
𝑑𝑦𝑑𝑥 =

𝑥 ― 1𝑦 ― 1 d)
𝑑𝑦𝑑𝑥 =

𝑥 + 1𝑦 + 1

6. Solution of the equation  𝑥2𝑦 ― 𝑥3𝑑𝑦𝑑𝑥 = 𝑦4cos𝑥, when  𝑦(0) = 1 is

a)𝑦3 = 3𝑥3sin𝑥 b)𝑥3 = 3𝑦3sin𝑥 c) 𝑥3 = 𝑦3sin𝑥 d)𝑥3 = 𝑦3cos𝑥
7. A curve 𝑦 = 𝑓(𝑥) passes through the point 𝑃(1, 1). The normal to the curve at point 𝑃is 𝑎
(𝑦 ― 1) + (𝑥 ― 1) = 0. If the slope of the tangent at any point on the curve is proportional to the 

ordinate at that point, then the equation of the curve is

a)𝑦 = 𝑒𝑎𝑥―1 b)𝑦 = 𝑒𝑎𝑥 +1 c) 𝑦 = 𝑒𝑎𝑥―𝑎 d)𝑦 = 𝑒𝑎(𝑥―1)

8. The solution of 
𝑑𝑦𝑑𝑥 +1 = 𝑒𝑥+𝑦 is

a) 𝑒―(𝑥+𝑦) +𝑥 + 𝑐 = 0 b)𝑒―(𝑥+𝑦)―𝑥 + 𝑐 = 0 c) 𝑒𝑥+𝑦 +𝑥 + 𝑐 = 0 d)𝑒𝑥+𝑦―𝑥 + 𝑐 = 0
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9. The solution of the differential equation {1𝑥 ― 𝑦2

(𝑥 ― 𝑦)2}𝑑𝑥 + { 𝑥2

(𝑥 ― 𝑦)2
― 1𝑦}𝑑𝑦 = 0 is

a) In |𝑥𝑦| +
𝑥𝑦(𝑥 ― 𝑦) = 𝑐 b) In | 𝑥𝑦 | +

𝑥𝑦(𝑥 ― 𝑦) = 𝑐 c)
𝑥𝑦(𝑥 ― 𝑦) = 𝑐𝑒𝑥/𝑦

d)
𝑥𝑦(𝑥 ― 𝑦) = 𝑐𝑒𝑥𝑦

(where𝑐 is arbitrary constant)

10. Degree of differential equation 𝑒𝑑𝑦/𝑑𝑥 = 𝑥 is

a)1 b)2 c) 3 d)None of these

11. The order and degree of the differential equation (1 + (𝑑𝑦𝑑𝑥)2)
3 4

= (𝑑2𝑦𝑑𝑥2)
1 3

is

a) (2,4) b)(2,3) c) (6,4) d)(6,9)

12. tan―1𝑥 + tan―1𝑦 = 𝐶is the general solution of the differential equation

a)
𝑑𝑦𝑑𝑥 =

1 + 𝑦2

1 + 𝑥2

b)
𝑑𝑦𝑑𝑥 =

1 + 𝑥2

1 + 𝑦2

c) (1 + 𝑥2)𝑑𝑦 + (1 + 𝑦2)𝑑𝑥 = 0

d)
𝑑𝑦𝑑𝑥 =

1 ― 𝑦2

1 ― 𝑥2

13. The solution of 𝑦′ = 1 + 𝑥 + 𝑦2 +𝑥𝑦2, 𝑦(0) = 0 is

a)𝑦2 = exp ( 𝑥 +
𝑥2

2
) ― 1 b)𝑦2 = 1 + 𝑐exp ( 𝑥 +

𝑥2

2
)

c) 𝑦 = tan(𝑐 + 𝑥 + 𝑥2) d)𝑦 = tan ( 𝑥 +
𝑥2

2
)

14. If 
𝑑𝑦𝑑𝑥 = 𝑒―2𝑦 and 𝑦 = 0when 𝑥 = 5, the value of 𝑥 and 𝑦 = 3 is

a) 𝑒5 b)𝑒6 +1 c)
𝑒6 + 9

2
d) log𝑒6

15. The solution of differential equation (sin𝑥 + cos𝑥)𝑑𝑦 + ( cos𝑥 ― sin𝑥)𝑑𝑥 = 0 is

a) 𝑒𝑥(sin𝑥 + cos𝑥) + 𝑐 = 0 b)𝑒𝑦(sin𝑥 + cos𝑥) = 𝑐
c) 𝑒𝑦(cos𝑥 ― sin𝑥) = 𝑐 d)𝑒𝑥(sin𝑥 ― cos𝑥 + 𝑥) = 𝑐

16. If 𝑥  𝑑𝑦 = 𝑦(𝑑𝑥 + 𝑦 𝑑𝑦), 𝑦(1) = 1and 𝑦(𝑥) > 0, then 𝑦( ― 3) is equal to

a)3 b)2 c) 1 d)0

17. The solution of the differential equation 
𝑑𝑦𝑑𝑥 =

𝑦𝑥 +
ϕ(𝑦𝑥)ϕ′(𝑦𝑥) is

a)ϕ(𝑦𝑥) = 𝑘𝑥 b)𝑥ϕ(𝑦𝑥) = 𝑘 c) ϕ(𝑦𝑥) = 𝑘𝑦 d)𝑦ϕ(𝑦𝑥) = 𝑘
18. The solution of (𝑥 + 𝑦 + 1)

𝑑𝑦𝑑𝑥 = 1 is

a)𝑦 = (𝑥 + 2) +𝑐𝑒𝑥 b)𝑦 = ― (𝑥 + 2) +𝑐𝑒𝑥
c) 𝑥 = ― (𝑦 + 2) +𝑐𝑒𝑦 d)𝑥 = (𝑦 + 2)2 +𝑐𝑒𝑦
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19. The differential equation of the family of the curves 𝑥2 + 𝑦2 ―2𝑎𝑥 = 0 is

a)𝑥2 ― 𝑦2 ―2𝑥𝑦′′ = 0 b)𝑦2 ― 𝑥2 = 2𝑥𝑦𝑦′
c) 𝑥2 + 𝑦2 +2𝑦′′ = 0 d)None of these

20. If 𝑐1,𝑐2,𝑐3,𝑐4,𝑐5and𝑐6 are constants, then the order of the differential equation whose 

general solution is given by𝑦 = 𝑐1cos(𝑥 + 𝑐2) + 𝑐3sin(𝑥 + 𝑐4) + 𝑐5𝑒𝑥 + 𝑐6is

a)6 b)5 c) 4 d)3

PRERNA EDUCATION https://prernaeducation.co.in 011-41659551 | 9312712114


